INSTRUCTION MANUAL

Content:

Tail Rotor Belt 544 MXL x1pcs

AE:

544 MXL FZ#& x1 pcs

Tail Boom (belt version)(425mm) x 1pcs

X3 REAERREE (425mm) x1 pcs

X3 Tail prod (403mm) x 1pcs

X3 EHAZ (403mm) x1 pcs

71T Front Pulley Gear Set x 1pcs

1T FREEeER x1 pcs

15T Tail Pulley Gear Set x 1pcs

15T ERE#egE x1 pcs

X3 Tail Output Shaft x1pcs

X3 E#f x1 pcs

Guide Wheel x2pcs

i x2 pcs

4.8Ball Links Pack x2pcs

4. 8mm FAREE x2 pcs

Bearing(B2x5x2.5)x4pcs

Ef7FB2x5%2. 5 x4 pcs

Washer (W2x3.5x0.5)x2pcs

FEF)W2x3. 5x0.5 x2 pcs

Pin (P1.5x10.5)x1pcs

&4 P1.5x10.8 x1 pcs

Socket Set Screw (M2x2)x1pcs

M2X2 A ALEfTEZR x1 pcs

Socket Head Button Screw (M2x4)x4pcs

M2x4 JK;E7<BIEHE x4 pcs

Socket Head Cap Screw (M2x8)x1pcs

M2x10 7XAlEHE x2 pcs

We recommend downloading and using the latest manual
from Official GAUI website’s download area.

This product is for a radio controlled (RC) helicopter.
Improper operation, maintenance or assembly can
potentially cause a RC helicopter to pose a danger

to persons or objects including but not limited to

the possibility of causing serious physical injury and
even death.

BfRESEMN GAUl BEARTHN TRE T

A fERRITRIFM -

FEMEERELENEE - TERRE  RENEHER
AR REBHEEETHAH N A B S EMRERER o 84 -
EETRRIHRAREEBRESRSESL TR -



Please disassemble the tail boom
from the helicopter frame
BN EENEEHET -

Disassemble
EHF

Disassemble
EHTF

Please disassemble the bearing and
gears from tail transmission

AR SRR MARERFHT

P.1

R hRAE g 1

Belt Conversion - Assembly #1 \




Install the whole belt and gear assembly into the
helicopter frame body.

ASHE S IF B0 2 e AR AR EHLEE A -

SHTE RS AE L R E S ENRE -
Make sure the belt has the proper tension
before fastening the mounting screws.

P.5 R RRAE SRS Belt Conversion - Assembly #5 \




M2x4

Disassemble the bevel gear and replace with the
belt gear as the illustration in next page.

SRR RS A B R EARTR -

_— o

Belt guide
wheel.

«—B2x5x2.5
«—W2x3.5x0.5
«—B2x5x2.5

«—M2x10

1.Assemble the belt guide wheel,
but please pay attention on
how guide wheels needed to
be installed as illustration shows.

2.Reverse the landing gear parts
into the body. .

1. AR RS  TEME SR
SHFIAIE o

2. FSMI SRR S keS| -

P.3

FEHEShRAESE3 Belt Conversion - Assembly #3 \




Tail Boom (for Belt version)(425mm)
RS

} /
RRE A

Belt version

Washer for gap adjustment
W6.2x8x0.2
PR EHEEWN6. 2x8x0. 2

\

RS A

for belt version

Please assemble the tail boom and linkage parts according
to the illustration to convert to Belt Drive Version.

SBECA BRI EE RIS IR S A -

Disassemble

HF

1.Disassemble the main gear and change
belt and pulley as the illustration located
in next page.

2.Disassemble landing gear parts and
then disassemble the front bevel gear
mounting block.

IS EEBREN TS T RRERHEE -
2. A RIZRAASR RS AT B R B E EEED T -

/ Belt Conversion - Assembly #2 R ERAESE2 P.2




*** Important ***
Install the whole tail belt boom assembly in to the helicopter frame and
pay attention on the direction of the belt as the illustration below.

ARSI BB E A S LA S TEIEBRH M -

ARREEIEEAR o
Please notice the travel direction of the belt needs to be same as the illustration.

/ Belt Conversion - Assembly #4 B&ARRSEA P.4




GAUI

www.gaui.com.tw
E-mail: gaui@gaui.com.tw
TEL: +886-2-86305567
FAX: +886-2-26105567

No.118, Ren’ai Rd., Bali Dist., 'l’i"

New Taipei City 249, Taiwan MADE IN TAIWAN



